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1. QSEMPQS

(1) PBREHENET S

(2) QS(2R 5B Ni%)
M=N"2 (M+k)?- N =S,, k=1,2,....L
SERBERTHE

(3) MPQS(#E# ZIEH 2R 5.5 ViE)
f,(x) = {(ax+b,)?> = N}/a, x=-L,..,-1,0,1,...L
fX) T RBEETHEE
b.2-N = 0 (mod a,)&Ya,b, #1EmK

2. QSIZ&BEZ 5 EG

3. QSIZ&BA5BNER

LN et £ 5 No x x>N 2 71113232931374353
(1) 7B RBUN) 0694 7130000101000
N =480923, M=[N"2]=694 1 701 10478 10 02 0 01 0 0O
; 2 709 21758 10 1 01 0 0 0 1 O
(2) FBEE 3 710 23177 02 1 00 0 0 0 1 O
PHSILLTDHRET. b<POEHDLA 4 732 54901 01 10101000
_ 5 753 86086 11 1 10000 10
b2— N = 0 (mod P)Z&i&f-9 PZER 6 787 138446 11 1 00 1 1 0 0 0
3 = F= 7 794 149513 01 0 1 0 0 1 0 0 1
FBRELTEN10ELED 8 808 171941 02 2 0 0 1 0 0 0 O
{2,7,11, 13, 23, 29, 31, 37, 43, 53} 9 809 173558 13 1 01 0 0 0 0O
10 924 372853 00 0 1 1 1 00 1 0O

3.1 53BL\DEEA 4. 1T E

(1)x =694 =M
x2 — N = 6942 — 480923 = 713 = 23-31
(2) x = 701 = M+7
x2 — N = 7012 — 480923 = 10478
=2-132-31
(3) x = 709 = M+15
x2 — N = 7092 — 480923 = 21758
=2-11-23-43
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(1) 3 BUMER D20 FIRTHI(A+E)
(@) SBLMERIZHL(mod 2)D1TFI > A
(b) FTHIADAIZ ATTHI(E)Z BN
(2) 1T3LEE
(@) A*EDFTIIEH YR ERETHEE
(b) EHZMEL ., AAITIXLTITS
> RTEOLBLHEERET
(c) (BEA+1)DITELFILLTZEFITHE
(d) HEFZHSITIIEIZRBERMNADS

4.2 HERBR

. ABLNMERD2DEIRTHIAE)
A E
1000001000 01000000000
0110101000 00001000000
0010101010 01100000000
0001100010 01001100000
0000101000 10000000000
0000010000 11001010000
0000000001 10100101000
0000000000 11110000000
0000000000 11001010100
0000000000 01001000010
0000000000 10000110001

4.4 ERITORYEL

(1) HEHRALRTED) E

7 0000000000 11110000000
8 0000000000 11001010100
9 0000000000 01001000010
10 0000000000 10000110001
(2) KBITOWMYHELEDT1DITERYHL)
(@) 741: 0,1,2,3

(b) 847: 0,1,4,6,8

(c) 911 1,4,9

(d)10947: 0,5,6, 10

5. A# iz

(1) KETEERALTEOXYDEZEE
X2~ Y2 = 0 (mod N)
(a) XD EHE (BT > S HEHE)
ABVMEROEDX)DRE
(b) YD R B (BT DRBEEDAF5H)
BEEAFH-(EBTOEEEFDAE)2
(2) P=GCD(X+Y, N), Q=GCD(X-Y,N)
> PxQ=N&RE# 5 iR
L. #2 L 80HfELLED

5.1 R%5maEH1

- #/E17(0,1,2,31T) TO R &
(1) XOFEHBITHLBEMEE)
X =694-701-709-710 (mod N) = 123677
(2) YOHERBITORBEEDAFHE)
HE =2,7,11,13, 23, 29, 31, 37, 43, 53
R¥=(2,2,2,2 2,0 2,0, 2 0)/2
Y =2-7-11-13-23-31-43 (mod N) = 302097
(3) P =GCD(X+Y,N)
P = GCD(123677+302097, 480923) = 593
> P=593, Q=811 ENIZE 2

5.2 R EPI2

- #/E17(0,1,4,6,84T) TOHRE 7 fiF
(1) XOFERBTHLHEMETE)
X =694-701-732-787-809 (mod N) = 411532
(2) YOHERBITORBEEDAFEE)
HE =27, 11,13, 23, 29, 31, 37, 43, 53
R¥=(2,4,4,2, 2, 2 4,0, 0, 0)/2
Y =2-72:112-13-23-29-312 (mod N) = 270418
(3) P =GCD(X+Y,N)
P = GCD(411532+270418, 480923) = 593
> P=593, Q=811 ENIZE 2




5.3 R#EIER

(1) #€E17(0,1,2,31T)

X=123677, Y=302097, N=593-811&LE 5
(2) #/E17(0,1,4,6,81T)

X=411532, Y=270418, N=593-811&LE 5 R
(3) HEE1T(1,4,91T)

X=87239, Y=373522, N=593-811+-E 5 fiE
(4) 7€/B17(0,5,6,101T)

X=104199, Y=104199, BB THMHETET




